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QUESTION 1

In the Cisco Unified Contact Center Enterprise solution, the Cisco Unified ICM Script Editor Agent-to- Agent Node is
used to send calls between agents in the system. Which item is not applicable to the Agent- to-Agent Node usage? 

A. When selecting an agent by "Peripheral Number," an expression is required. 

B. When selecting an agent by "Enterprise Name," an expression is required. 

C. An agent may be selected by Peripheral Number, Enterprise Name, or Skill Target ID. 

D. When the "Node fails if agent is unavailable" option is checked, the specified agent must be in a Ready state for the
"success" branch of the node to be executed. 

E. When the "Node fails if agent is unavailable" option is not checked, the "success" branch of the node is executed and
the Cisco Unified ICM Call Router sends the call if the Call Router finds a valid label for the agent. 

Correct Answer: B 

 

QUESTION 2

In the Cisco Unified Contact Center Enterprise system, there are several key utilities and commands that can be used to
verify the state of a logged in agent. Which two of these tools or lines of syntax should be used to perform this test?
(Choose two.) 

A. C:\>rttest /cust UCCE /node RouterARTTEST Release 7.0.0.0 , Build 14833rttest: list_agent_status /agent 5001 

B. C:\>rttest /cust UCCE /node RouterARTTEST Release 7.0.0.0 , Build 14833rttest: agent_status /agent 

C. C:\>opctest /cust UCCE /node PG1AOPCTEST Release 7.0.0.0 , Build 14833opctest: list_agents 

D. C:\>procmon UCCE PG1A pim1>>>>pim_list_agents 

E. C:\>opctest /cust UCCE /node PG1AOPCTEST Release 7.0.0.0 , Build 14833opctest: dump_agents 5000 /agent
67172900 

Correct Answer: BC 

 

 

QUESTION 3

Drag and drop the Cisco Unified ICM Support Utility on the left to its function on the right. 

Select and Place: 
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Select and Place: 

Correct Answer: 
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QUESTION 4

In a Cisco Unified Contact Center Enterprise deployment, calls are unable to reach the Cisco Unified IP IVR for
prompting or queuing. Which three tools and logs would be most useful in troubleshooting this problem? (Choose
three.) 

A. Cisco Unified Communications Manager PG PIM Log 

B. VRU PG PIM Log 

C. Cisco Unified IP IVR MIVR Log with SS_TEL and LIB_ICM tracing turned up 

D. CTI OS Log with Agent State Trace turned up 

E. Cisco Unified Communications Manager PG OPC Log 

F. Cisco Unified ICM Router Log Viewer 

Correct Answer: BCF 

 

QUESTION 5

Refer to the exhibit. The Cisco Unified Communications Manager Peripheral Gateway is unable to connect and activate
the link to Cisco Unified Communications Manager. Review the log file from the Cisco Unified Communications Manager
JTAPI Gateway. What are two possible causes of this failure to connect? (Choose two.) 
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A. The Cisco Unified Communications Manager is not reachable on the network. 

B. The JTAPI Gateway\\'s configuration of the Cisco Unified Communications Manager Publisher IP Address is invalid. 

C. The JTAPI Gateway\\'s configuration of the JTAPI User ID (ccm1pguserX) does not match with the Cisco Unified
Communications Manager\\'s preconfigured ID. 

D. The JTAPI Gateway version is not compatible with the Cisco Unified Communications Manager version and needs to
be downloaded again from the Plug-in page in Cisco Unified Communications Manager. 

E. The Cisco Unified Communications Manager\\'s CTI Manager service is not enabled. 

F. The JTAPI Gateway\\'s configuration of the JTAPI User Password does not match the Cisco Unified Communications
Manager\\'s preconfigured password. 

Correct Answer: CF 
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